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1km? = 100 ha = 10000a
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5.6 ha = 56000 m? < 550000 cm?
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-5000g = Dkg
-4t =Qkg
-900kg = @t
lAt=®Bg
<012t = @kg

@5 @ 4000 ® 0.9
@ 1400000 @12

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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10000cm? = 1m?

(1) 150000cm? = 15m?
(2) 16m? = 160000cm?
(3) 270000cm? = 27m?
(4) 43m?2 = 430000cm?
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(1)540m?> = Jem?

(2) 20300000 cm? = |m?

(3) 4000000 m? = | |km?
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(1) 1m? = 10000 cm?

(2) 10000 cm? = 1 m?

(3)1km? =1kmx 1kmo|BEZ
1000 m x 1000 m = 1000000 m?2
whabA] 4000000 m?2 = 4km?2 JU o,
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HE D 4000000
HED 50000
HE D 500
HEY: 5

1km? = 100 ha = 10000 a = 1000000 m?
(1) 4km? = 400 ha = 40000 a = 4000000 m?
(2) 5000000 m?2 = 50000 a = 500 ha = 5 km?
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400 x 400 = 160000 m? = 16 ha
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® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t
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@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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160 x 90 — 90 x 40 = 2 — (50 + 70) X 30 = 2
= 14400 — 1800 — 1800 = 10800( m?) — 108a
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(dre] Yo])= 480 x 600 + 2 = 144000( m?)
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(A1) W O])= 144000 x 7 = 36000(m?)

whebA], 36000 m? = 360a = 3.6 ha YU T,
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1. 7 £-2000000 g L. 6000000 g+5 t
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1. 7t - 2000000 g = 7000 kg — 2000 kg = 5000 kg

L. 6000000 g + 5t = 6000 kg + 5000 kg = 11000 kg
T. 4000kg + 800000 g = 4000 kg + 800kg = 4800 kg
=
5

. 12t - 620 kg = 12000 kg — 620 kg = 11380 kg
== lleT=15
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26 x 250 = 6500(kg) = 6.5(t)
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(AAHZYE meFe] o] yol)
600 x 450 = 270000( m?2)
270000 m? = 2700a LT
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Abk 100 8719} v 50 37H0] SAE AGLHY 5t oleluth At
& A7) 2717} 30 kg ol 2k H) @ AREe] RAE B kg 917 Pt
AlL.
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5t = 5000 kg

Atk 100 AES] FA 30 x 100 = 3000( kg)
v 50 AFAFe] T 1 5000 — 3000 = 2000( kg)
B 1 AFzke] B 1 2000 + 50 = 40( kg)




